5.3 Solving Equations with Variables on Both Sides

Another concept that we will need to solve equations is knowing how to deal with equations where there are variables on both sides of the equation. Since we only know how to solve equations where the variable is on one side, we need to get the equations into that form. Let's start with the following example:

$$4(x-2) + 2x = 3(x-1) - 11$$

Note that there are variables on both sides of the equation, but we also need to do some simplification. It is almost always easiest to simplify first, so let's do so.

$$4x - 8 + 2x = 3x - 3 - 11$$
$$6x - 8 = 3x - 14$$

Now there are still variables on both sides. We have the 6x on the left side and 3x on the other side. It would be nice if the 3x were not on the right. So how do we get rid of it? We can subtract 3x from both sides of the equation because we know that 3x - 3x = 0 which will eliminate the variable on the right side of the equation. Observe:

$$6x - 8 = 3x - 14$$
$$-3x - 3x$$
$$3x - 8 = -14$$

Now we have it down to a two-step equation which we know how to solve. We'll leave it as an exercise to verify the solution is x = -2.

Let's look at one more example of getting the variable on one side of the equation where the solution should be x = 7:

$$-2x - 6 = -4x + 8$$

$$+4x + 4x$$

$$2x - 6 = 8$$
Add $4x$ to both sides to eliminate the $-4x$ on the right side.

Lesson 5.3

Solve each equation by using the distributive property, combining like terms, and eliminating the variable on one side of the equation.

1.
$$2y + 3 + 4 = 5y + 10$$

2.
$$2p + 4p - 3 = 2p + 1$$

3.
$$8k + 5 + 2k = 23 + k$$

4.
$$4r + \frac{9}{4}r + 14 = 5r - \frac{3}{4}r + 1 - 3$$

5.
$$2x + 3 = 2x - (3 + 2x) + 6$$

6.
$$4(x-1) + 2x = 2(x+2)$$

7.
$$-5(f+2) = 3f+2$$

8.
$$\frac{3}{2}c - 3c + 4 = \frac{5}{2}c + 7 - 3$$

9.
$$10(a + 1) = 2(a + 2) - 2$$

10.
$$5x - 3x + 7 = 3x - 1$$

11.
$$5d - 25 + 2d = 2d$$

12.
$$4(2t+1) + t = 3(t+2)$$

13.
$$\frac{1}{2}q + 2(q+5) = -4(q+1) + 1$$

14.
$$4(1-2u) = 2(u+2)$$

15.
$$5z - z + 3 = z + 3 + 1$$

16.
$$6x - 3x + 26 = 5(x + 8)$$

17.
$$6(x+1) = 4\left(1 + \frac{1}{4}x\right) + 6 + 3x$$

18.
$$9m - m + 3 = -2(m + 1)$$

19.
$$-(y-4) + 3y = 4(y+1)$$

20.
$$-2(j+5)+6=4(j+2)$$

Write an equation for each situation and then solve by using the distributive property, combining like terms, and eliminating the variable on one side of the equation.